VIDYASAGAR UNIVERSITY

Question Paper

B.A. Honours Examinations 2022
(Under CBCS Pattern)
Semester - IV
Subject : PHILOSOPHY
Paper : C10-T
Epistemology and Metaphysics (Western)

Full Marks : 60
Time : 3 Hours

Candidates are required to give their answers in their own
words as far as practicable.
The figures in the margin indicate full marks.

Group-A
Answer any five of the following questions : 2x5=10
1. What is the difference between truth and belief ?
2. Analyse the meaning of the word ‘true’ in each of the following statement :
(i) He is a true friend.
(i) The true way of solving this problem is ..............
3. Do you consider the following to be the occurent state, or dispositional, or both?
(1) He is angry.
(i1) The fruit is rotten.
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4.  Which of the following propositions are analytic and which are synthetic?
(1) All swans are birds.
(i1) There is water in the sea.
5. Are the following logically possible?
(1) To go back to the Past.
(i1) To Jump 10,000 feet into the air.
6. What is Realism?
7. What is Phenomenalism?
8. What is substance?
Group-B
Answer any four of the following questions : 5x4=20
9. Are all ideas based on experience? Discuss. 5
10. What are the different meanings of ‘know’? When can it be said that ‘S knows that
P’? 2+3
11. Explain with illustration the different kinds of possibility and impossibility. 5
12. Is causal Principle a-posteriori? Discuss the question after Hospers. 5
13. Briefly explain the main tenets of Representative Realism. Do you think that
Representative Realism prepares the way of Idealism? 3+2
14. Explain the theory of universal that appears most satisfactory to you. 5
Group-C
Answer any three of the following questions : 10x3=30
15. Explain and examine the correspondence theory of turth. 10
16. Explain the distinction between strong and weak sense of ‘know’? Is there any
proposition that can be ‘known’ in the ‘strong’ sense? 7+3
17. Distinguish between a-Priori and a-Posteriori statements. Are there synthetic a-Priori
statements? Give examples if there are. 5+5
18. Explain and examine the doctrine of ‘Esse est Percipi’. 10
19.  What is the Problem of universal? Critically explain Artistotle’s theory of universal.

2+8
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